Science Aptitude Test - 2021

For Class : VII
Full Marks : 50 AW’]‘[']”(_;_aﬂ[—l(_{u)gd - 1.30 hours

Answer all the questions ;

There are 30 MCQs (1 - 30) in Group A, each of 1 mark. Each MC(Q) has
been provided with four options. Shade the correct option with BALL
POINT PEN in the appropriate box in the Answer-script. Multiple shading
is liable to cancel the relevant answer. 0.25 mark will be deducted for
wrong answer to each MCQ. Group B contains 10 questions (31 - 40)
each of 2 ‘marks, answer these questions in the space provided in the
Answer-script. |

GROUP - A

1. GRUCE AIRGITEH FREE FE -
(a) 16 (b) cetifbet (c) FIRIRGE (d) =
In human body Nitrogen (N) is supplied by —

(a) Fat (b) Protein

- (c) Carbohydrate (d) Water

2. E% I RS <03 I ARy -

(a) CEE AR (b) TS AR
(c) YT ARTT ‘ (d) @R T
Fungi reproduces through —
(a) Root (b) Stem
(c) Spore (d) None of the above

3. faSwm feye = Fsa @b u ¢
(a) AR (b) W© (c) forar (d) =parg (U
Mucus secreats from —
(a) Stomach (b) Teeth
(c) Bile (d) Small intestine
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(a) TS (b) W” (c) fotst (d) mm{
Which of the following has maximum amount of cellulose ?
(a) Vegetables (b) Fish (c) Egg (d) Meat
G+ AS- A THIZI T —

(a) ST (b) =eT (c) Fiifd (d) 414
Example of pinnate seed is —
(a) Sunplant  (b) Shaal (c) Beetle nut  (d) Paddy

TRV (RO 7S e e -

(a) e (b) wfe (c) Rl (d) w54

Slope of Displacement — Time graph expresses —

(a) Distance  (b) Speed (c) Velocity (d) Acceleration

RGH (oGAIT 1S 21 -
(2)vFE e (b) *geA® () ARTME  (d) By o

Motion of a pendulum is —

(a) Circular motion (b) Periodic motion
(c) Recti linear motion (d) None
G T CHTCR (7031 =iCot oI 3 -

(a) S (b) I™iF ) #fEe  (d) 79
The time taken by pendulum bob to make on

i € complete oscillation
1s called — :

(a) Second (b) Fl'equency

(c) Time-period (d) Hour

C ICH AR Y Toll 2 0t 5 -

(2) PTG (b) STORBR () pmmpy
The Instrument uses to measure distance —

(a) Speedometer (b) Odomet
(c) Compus (d) None .

(d) @=HE
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10.

11.

12.

13.

14.

(2) SfEEEF  (b) AT FFD
(c) TERFT (d) AfeTS

Which of the following is used in electric bell ? *

(a) Electromagnet (b) Magnet
(c) Bar magnet (d) Solenoid
T > MAIIRO R -

() TE @™ (b) SREAGETE (c) TE WA (d) o wofdl
The mirror which can form a magnified image of an object is —
(a) Convex lens (b) Concave lens

(c) Concave mirror ~ (d) Plane mirror

i< Fers RIGIST (A i1 2L et e o1 2 -
() TR (b) FARCF (o) FCCHA  (d) FRSTN
Natural Indicator Litmus is obtained from the plant —

(a) Harrican (b) Lycan
(c) Founten ' (d) All the above
AT TS GFAP -

@ Romey () ALY (FIIAY () @EOR
Stainless steel is a type of - |

(a) Pure metal | (b) Alloy

(c) Magnetic metal (d) None of the above
FEACEHN ZRGIRC @ IHAAS T - |

(@) 2 (b) 3 )1 a4
Acidity of Calcium Hydroxide is -

(a) 2 (b) 3 )1 - d 4
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15.

16.

17.

- with a speed which is not constant 9

Py LS SIRITS @ P BIE SRR e X[EPdl LT 20T -
(a) 21% O, €% 0.04% CO,  (b) 19% O, oK 0.2% CO,
(c) 27% o a3 0.04% CO,  (d) 11.2% O, 4R 0.03% CO,
Inhaled air contains oxygen and corbondi ox1de in percent—
(a) 21% O, and 0.04% CO,  (b) 19% O, and 0.2% CO,
(c)27% O, and 0.04% CO,  (d) 11.2% O, and 0.03% CO,

T 0 A @7 >3 AT SR -

(a) 2.5% (b) 4% (c) 0% (d) 0.25%
Human urine contains urea in percent as —

(@) 2:5% (b) 4% (c) 0% (d) 0.25%

AR -7 (T QeTaTa 0 @mﬁaﬂzﬁﬁmwwﬁw

W9

3
N

A

. T ‘, A
(a) Distance: / , (b) Distar?ce

- =t
Time—

I ey A nfQ1] N [



18.

19.

20.

21.

A
Distance DistarchA
(© _ (d)
Tmes Tmem

SPIRCIO ATHRBITR =i Mataers —— =)

(a) -5°C T 70°C (b) =7°C (&= 135°C

(c) -10°C Atz 110°C (d)-10° ¢tz 90°C

Normal range of Laboratory Thermometer is —

(a) =5°C to 70°C (b)~7°C'to 135°C
~ (c) -10°C to.110°C (d)-10° to 90°C -

Aeod Ct AN Tt oA M 2

(a) 5NN (b) TG - (c) R (d) T

Which of the following does not yield wool ?

(a) Yak (b) Camel .(c) Goat - (d) Woolly dog
AR ST 7 A T 2 - |

@w . (b) BSIE (c) T (d)wmaa

Main source of Ascorbic acid is —
(a) Curd (b) Ant’ssting (c) Lemon (d) Amla

(2) QG (b) GAreired o
(c) t5# WMo (d) BT TR
The best soil for growing crops/plants is —

(a) Sandy soil (b) Loamy soil
(c) Clayeysoil - (d) All the above
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23.

24.

25.

26.

fRTaters 3t &R, o St Sl i e @if6 (oA FA 2
@3IFH G wmE  (@REm ()

Which of the following is produced due to action of decomposers
+ or micro organisms on dead plant parts ?

(a) Sand (b) Fungus  (c) Humus (d) Wood

HEE CARTHI? I SR (T 4016 Iee ittt &7, Gl 21 -
(@) &fomd  (b) Roggd (o) afewem  (d) PFRR T
The property of light which is used in simple periscope is —

(a) Refraction (b) Scattering
(c) Reflection (d) None of the above
I 2o #Aferiz 2

(a) G (b) CEIE  (c) AlFs (d) =AfRe
Which of the following is a natural polymer ?
(a) Terrilene  (b) Cellulose (c) Polycot (d) Polythene

(a) ST - O

(c) = Pt (d) it ST

Which factor influences soil formation ?

(a) Climate (b) Vegetation

(c) Parent rock (d) All of these

(@ ~fOrS R *MITYe (Tt #iieat A o 77 -

(a) (ST A3 (b) GRIRITHIITES 1

() Co1=BIRTET &(© (d) oItz 777 siwfex I
The process how the crystal of pure substances are obtained —
(a) By crystallization ~ (b) By chromatography

(c) By peptization (d) By all these methods
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27.
(a) TR ORESE (¢) 2Tl (d) BIeCab
The material of an electric iron is made of —
(a) Iron (b) Nickel,  (c) Nichrome ~(d) Tungsten
08, IS PETATTT FETPG wHIT 3 IO MTZ -
(a) R fRFAICarD (b) Geeifirr fRFATCarD
ORISR (d) @ Fes 7R
The compact Fluorescent electric lamp has —
(a) Nichrome Filament (b) Chromium Filament
(c) Tungsten Filament (d) No Filament
29, SR I oIS TR AR 107 TS AT 2
(a) S@wAAd (b) SAwE 7o
(c) viee vl (d) e uaeH Teng
Which of the following mirror can form a real image of an object ?
(a) Convex " (b) Concave
(c) Plane (d) Either convex or concave
30. oA @D TREATTAN T2 -
(a) TFEECRERE (b)) P A RS
(c) T GiE SHIRT (d) TGS OIF THRT
Which of the following does not cause acid rain ?
(a) Sulphur dioxide (b) Carbon monoxide
(c) Carbondioxide (d) Nitrogen dioxide
GROUP-B
A Tae ferd -
Briefly answer the questions :— 2x10=20
31, i R 2 b otfTER A o | '
What is ah antacid:?:Name any one antacid.
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33.

34.

35:

37.

38.

39.

40.

(i) 9fb Sf¥wwa 11 v wa sy Arsid) @ Aarsiel 42 a2
AR =T I AW (i)~ o) <l G Fgesst =1t ot
(1) Nameaplant which has both autotrophic as well as heterotrophic

modes of nutrition. (ii) Name a parasitic plant.

SRR G0 P @ GH{B Y I A7 12 |

State one cause of soil erosion and one process to solve soil erosion.
TFITHCZ T A G (7t T 2 e =itst 14 |

How many types of blood vessels are there in human body ? Name
‘them.

 SfSeeRITER I T AT S 2ttt @ |

 Give two applications of the heating effect of electric current.

T-TET T [ 2 -1 WER G35 B i B |

What is ground water ? Name the main source of ground water.

IS T @ RIS YT S~ |

List two differences between aerobic respiration and anaerobic

respiration,

(TR 01 210 ity 17 U6 ity foret |

Give two methods of preventing the rusting of iron.

ﬂﬁﬁﬁﬂﬁﬁﬁﬂﬂ?@ﬂﬁf@mﬁﬁcwmwvnm CoTl=
AR T (o ? |

Why the Sun’s heat can not reach the earth by conduction or
convection ?

TP b1 2fia e i fog |
Name any four types of silk.
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